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THE SECOND TEST MATCH: 

The second Test, the last innings, and England need 
372 to win - with a day and a half to get it in. Quite a tall order. 
Here's Miller bowling to Cowdray, who scores a single. Richardson 
and Graveney have been dismissed, and now it's Watson at the 
other end* 

Miller to Watson. 

And Watson's bowled - 87 for 3* We'll have to do better 
than this. 

Now it's Peter May doing his best to stop the rot. 
England's hopes rise again, for he seems to have the measure of the 
Aussie bowling* 

Benaud to Cowdray . 

And Cowdray's l*b*w* Now it's 91 for 4, and May's really 
got his work cut out. The field is packed very close, but time and 
again he manages to slip through. 

The new ball, and Archer bowling to Bailey. 

Bailey smacks him to the boundary for four. 

Archer to Bailey again* 

And there goes Bailey - 142 for 5. He's succeeded by 
Evans, who starts off with a lucky escape. 

Archer bowling to Peter May, and watch this for a neat 
piece of fielding. 

May's raking a gallant stand, and Evans is holding his 
end up well - so all hope isn't dead yet. But it's very slim indeed, 
and when Miller has Evans caught by langley far seven, it's practically 
disappeared. 

175 for 6. And now comes disaster - Langley catches May 
five runs later* 

TfVer. follows - but he's dismissed for four. England's 
tail i8 collapsing fast, and Australia's on top of the world* 

Wardle goes for a duck. Truman snatches a couple, but 
Archer soon deals with him - and Australia have won by 185 runs. One 
up and three to go — a real challenge for England! 


